SCIENCE - UNIT 3

Name: Date:

Surname: Primary 3:

1. Complete the sentences.

invertebrates | do not have | vertebrates | have | two

a. We can classify animals into main groups.
b. Cats are . They a backbone.
c. Insects are .They _______abackbone.

/5pts



2. Classify the vertebrates.
Mammal-reptile-amphibian-fish-bird

___/6Pts

3. Mark the correct words.

a. Mammals, birds and reptiles breathe using their gills / lungs.
b. Amphibians and birds /ay eggs / have live babies.

c. Baby amphibians have no / four legs.

d. Most reptiles and amphibians are herbivores / carnivores.

e. Birds have fur/ feathers.
____/BPts



4. Identify the invertebrates in the pictures using the following words:

Insect / myriapod / gastropod / crustacean / bivalve / cephalopod /

arachnid

g.

5. Draw lines to match the sentences.

1. Herbivores a. eat both plants and other

animals.
2. __ Carnivores b. lay eggs.
3. __ Omnivores c. have live babies.
4. __ Viviparous animals d. only eat other animals.

5. __ Oviparous animals e.only eat plants. __/5Ps

____/6Pts



6. Write true (T) or false (F).

a. Mammals are vertebrates.

b. Mammals are herbivores.

¢. Mammals are oviparous.

d. Mammals breathe using their lungs.

e. Mammals have hair or feathers.

___/5Pts

____/bBPts



7. Complete the text about birds.

cannot | oviparous | eggs | feathers | vertebrates | fly

Birds are . They are because they lay . Birds
have , a beak and wings. Most birds can . Penguins
and ostriches fly.

__/6Pts

8. Decide if the sentences are about fish, reptiles or amphibians.
a. They have fins.

b. They go through a process called metamorphosis.

c. They lay their eggs on land.

d. The adults breathe with gills.

e. They have moist skin,

____/BPts



9. Look and read. Choose the correct words and write them on the lines.

a. This is a bird but it cannot fly.

b. This is a mammal and it can fly.

¢. This amphibian lives on land and in water.

d. This animal lives in water and breathes with gills.
e. This is a reptile and it has a shell.

f. This mammal lives in water but breathes with lungs.

____/6Pts

Total /50 Pts



